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OUHIMEFEE AHMAHAM X
1,000,000& * 207| 20,000
S&sIF AFHSEX A 108,900 98,400 10,500
< 32,670
i 76,230
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FAUXGAPHNMH =4 K& 65,072 52,749 12,323
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= 32,536
< 9,761
[ia 22,775
03 A& &2l 65,072 52,749 12,323
OF4&X GAP etEd 2 A ALY 65,072,000 65,072
= 32,536
< 9,761
s 22,775
sStE MRS AE X3 219,000 768,200 A 549,200
< 109,500
s 109,500
402 2I2H X201 M 219,000 768,200 A 549,200
< 109,500
s 109,500
02 QI E2AIE EZ (OIS ) 219,000 0 219,000
Ox7l s¢tEs RFSAE N
365,000,000& * 0.6 219,000
S 109,500
s 109,500
HEMFE SSASIIEE 2SS AY 150,000 350,000 200,000

_43_




2N
X ZH -
L= B
el

A3 - cA(3) -

N2 A

01
o

Off &t 24

=

i
2m

150,000

350,000

200,000

150,000, 000&

150,000

150,000

350,000

200,000

Mo A

97,000
48,000
10,000
39,000

97,000

307 21201 &

Mo A

97,000
48,000
10,000
39,000

97,000

02 IZHA A A B X

97,000, 000&

HH

97,000

97,000
48,000
10,000
39,000

97,000

Mo

8,000
4,000

800
3,200

8,000

307 glztol &

Mo A

8,000
4,000

800
3,200

8,000

02 B AAMHEX

8,000,000

HH A

8,000
8,000

4,000
800
3,200

8,000

GAP QIS SOt &Rz, 3%,

MHEHE &, THHH & =+

2 Atd

Mo A

7,791

5,454
701
1,636

1,629

6,162

Mo R

7,791
5,454

701
1,636

1,629

6,162

MIIEtE2d =
OGAP 15

AISsot et d ZAH K&

7,791,000&

Mo A

7,791

7,791
5,454

701
1,636

1,629

6,162

O

x
Mo
{0
1>
s
[af
o
0l
1>
1>
1]

H

2,486
746

1,769

_44_




A sgI=HH
HY: SEM2RE
o9l sEME RSHA PE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 1,740
402 SI2FAHE0| & 2,486 717 1,769
&< 746
= 1,740
02 CIZEXIEAIS B X (0| XM THL) 2,486 717 1,769
OGAP 2152 K& 2,486,000 2,486
o= 746
= 1,740
SHENE =SHAH S 1,284,900 1,166,500 118,400
= 36,000
& 266,400
= 982,500
=E=XNI=2 A 840,000 950,000 A 110,000
& 90,000
o 750,000
402 SI2F X0l & 840,000 950,000 A 110,000
& 90,000
= 750,000
02 CI2ZtXIE A E X (0| & THS) 840,000 0 840,000
OsdtE =583 840,000,000& 840,000
&< 90,000
= 750,000
==Eog 24 2,500 2,500 0
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09 AL HIEA S 3,200 3,200
OZEZASOIANE S HEHEY
300,000& = 43 1,200
OBYRTAE 2Ys FHBY
200,000& = 108 2,000
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206 M= 8l 8,000 8,000
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